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(V0.1024) + (V0.2401) + (V0.1225) — (\0.6400) = (2)*

1.0.36
2.0.6
3.0.216
4.0.66
5.NOT



£V(1295.77) + \(196.32)} x 19.98 = 999,98 = 2

1.0
2.1
3.2
4.4
5.10



173 - 225 + 256 + 160 x 5% of 25 - V1156 = 22 + 9

1.13
2.11
3.17
4.16
5.18




120, 240,

240,

120,

‘)

°9

3.75

1.60
2.30
3.45
4.75
5.15




20, 21, 29, 56, ?, 245

1.140
2.130
3.125
4.120
5.NOT



23,

29,

38,

79,

115

1.44
2.54
3.45
4.64
5.46




728,

716,

692,

608,

548

1.635
2.642
3.656
4.649
5.663




If the roots of the quadratic equation 6x> + kx - 12 = 0 are 3/2 and -4/3, then find the

value of k ?

e FEema THieRtoT 6x2 + kx - 12 = 0 % 0eT 3/2 3R -4/3 &, A k &7 9T F1a hiTa?

1.1
2.2
3.-1
4.-2
5.4



The cost price of an article is P rs and the article is marked up by Q%. The shopkeeper

gave a discount of 25% because of which the profit earned is (Q + 20) rs. If the article is

marked up by (Q + 5)% and the same percentage of discount is given, the profit earned is

(Q + 65) rs, then which of the statement(s) is/are correct?

Uch IEJ DI T Hed Prst AR aF&d Bl Q% gR1 Rfed fhar a1 §| goheeR o 25% &6

a"rﬁ'&gﬁaﬂwﬁﬁww (Q+20) 20T & ARG TEJ Bl (Q+5)% gRT fopar ST ©

%&C%;bl gaTT ufaera fear Srar &, 3Ioid 19 (Q+65)3UF &, d 98 & Hid T1/T HAT Tl
/%

1. 0.25P =1.2Q - 132
2. 0.5P =15Q

3. P=30+22Q

4. P=20Q

5. NOT



28 Men can do a work in x days and 35 women can do the same work in (x + 7)
days. The ratio of work done by 20 men and 12 women in the same time is S : 2.

Number of days taken by 1 men to complete same work is how much less than the
number of days taken by 1 women to complete this work?

28 JTY Teh &1 &l x Gl H I Thd o AR 35 ARRAT 38T dF Bl (x +7) &t H &

o AT AT A 20 Geul 3R 12 AR gRT ThT 91T PR &l 3Hurd 5: 2 &l &
PRI B QU Bl A 1 geul grT faw v et fr dear, g7 d B QU A H 1 AR
g forw arv fear & g&ar 8 fohaar &a ©7

1. 375 days
2. 390 days
3. 470 days
4. 480 days
5. NOT



In a family, there are two children N and S. The ratio between the present age of N =Y
and S is 5 : 6. After 8 years the ratio of N and S's ages will be 7 : 8. Find the total age
of N and S after 10 years ?

Th URIR H, & g=d N3HR ST N3IR S&H addAre 3mg & 1< &l Ui 5: 6 & 8 Tul &
gG N 3R ST Y T eqUrd 7: 8 Tl 10 g6l & a1 N AR SHT HoT MY AT HisrA?

1. 56 years
2. 54 years
3. 62 years
4. 64 years
5. 66 years



- 5(V3 +2V2)x + 50V6 = 0

y2- 3V5+2V7)y + 635 =0

Af x>y
Afx<y
Af x>y
Afx <y
Afx=y
or CND

o B~ WDN =




X2 - \5x - 60 =0

v2 - 9\ 7y + 140 =0

Af x>y
Afx<y
Af x>y
Afx <y
Afx=y
or CND

o B~ WDN =




A bag contains 3 red, 2 blue and 4 green balls. If a ball is picked at random, what is
the probability that the selected ball is either red or green?

Teh T 3 AT, 2 Al 3R 4 70 76 2. M T 711 ol ATgfoseh & A AT AT &, Al
=T 3 S FITET AT X T B BT TiRrehaT T &2

1.2/9
2.7/9
3.4/9
4.0

5.1/3



If the roots of the equation x> — x — A = 0 are real and the sum of the fourth powers
of the roots is 337. What is the value of A?

1.10
2.15
3.12
4.14
5.13



The ratio of water and flour in a bowl is 1 ¢ 3. If 4 cups so this mixture is taken out
and four more cups of tflour are added then the ratio of water to tlour becomes 1 ¢ 7.

Find the initial quantity of mixture in the bowl provided all the measurements are

done using cups ?

Tch heR & UTell 3 3HIE &7 U 1 : 3 &1 Tie 4 Y 57 AT A fqeprell ST & 3R

IR 3 U 31T THAT ST & o Urell 3R 3E &1 3Urd 1 : 7 & SIam &l Hek H fHsor
T URTAS AT ATd HIfSA A A ATT HY BT SUANT hlch AT IT &7

1.6 cups
2.8 cups
3.12 cups
4.15 cups
5.16 cups



S invested 4200rs and 4800rs at the rate of X% and (X + 5)% respectively on simple
interest for two years and gets total interest of 3180rs. If S invested (4200 + Y)rs and

(4800 + Y)rs at the rate of X% and (X + 5)% respectively on compounded interest for two

year, then he would get total interest of 4076.50rs.

Which of the following can be determined by using the above given data?
I). The value of X.

II). Sum of the value of X and Y.

III). The value of Y.

S& & gul & foIlv HTUROT ATl GT haAM: X% 3N (X + 5)% bl
e ¥ 4200 TUY 3R 4800 3UY T faer fohar 3R 38 3180 (

TUY BT Dol TS UTH §3M| AT S (4200 + Y)IUY 3R i/.:@/
(4800 + Y)TUY haAQm: X% IR (X+5)% I & & &l a¥ & forw \\"//\
Teheig odTol W fHder fhaT, A 38 $oT 4076.50 TUY &I | |

\

TSl fHII| SWIh & 915 SITADPRY Bl SUAN HIh 1. Only I and Il
fArafaf@a & @ s [ARa fear a1 Fadar 82 1L X @1 A 2. Only II
)| X3 Y ATT BT I )| Y R AT 3 NOT

4. Only Il

5. Onlyland Il



The speed of the car is (x + 5) km/hr and the speed of the bike is (2x + 10) km/hr.
Distance covered by bike in 2 hours is 30km more than that by car in the same time,
then find the mean speed of car and bike ?

PR I IMa (x +5) fhadt/ger § 3R asa & afad (2x + 10) fRafl/ger &1 a5d gRT 2 ¢ A
I & IS g HATT AT H BN gRT dF H1 715 gl § 30 Thall 31AUh §, O dR 3R a5
1 3T Ta AT hiiSA?

1. 24 km/hr
2. 25 km/hr
3.22.5 km/hr
4. 23.5 km/hr
5.21.5 km/hr



Directions: The question is given below consists of two statements. You have to decide
whether the data provided in the statement(s) is/are sufficient to answer the given
question.

Find the wages of P, Q and R together if they worked together to complete the work.
Statement 1. P, Q and R alone can complete the work in 12, 18 and 36 days respectively.
Statement 2. The sum of the wages of P and R is 640rs

Statement 1 alone is sufficient to answer the question but statement 2 alone is not sufficient.
Statement 2 alone is sufficient to answer the question but statement 1 alone is not sufficient.
Both statement 1 and statement 2 together is needed to answer the question.

Neither statement 1 and nor statement 2 is sufficient to answer the question.

Either statement 1 alone or statement 2 alone is sufficient to answer the question.

e wh e



Direction: There are 6 departments in a company. The pie chart below shows the
percentage of total employees in these six departments. And the table shows the ratio of

male and female in these departments. Total number of employees in the company is
2000.

PERCENTAGE OF TOTAL EMPLOYEES

Department Male : Female
Production 3:1
Accounts 2:3
HR 1:2
Procurement 3:2
Planning 1:1
Safety 2:1




How many more male employees must be recruited in Accounts department so that =y

the percentage of male in Accounts department becomes equal to the percentage of
male in Production department?

ol fIHET A fohdal 3 QoW haramial & Hdl - ST @M drfes or@m faHmer & goui &
UTdd 3cuied faomer # gy & giderd & s{re & Sie?

PERCENTAGE OF TOTAL EMPLOYEES

Department Male : Female
Production 3:1 1 180
Accounts 2:3 2. 360
HR 1:2
Procurement 3:2 3.200
Planning 1:1 4. 280
Safety 2:1 5 100



If the number of female employees in Planning department is increased by 50% and
the number of female employees in Production department is decreased by 20%
then find the total number of employees in the company ?

Ife Aotar faameT A Afgen AR T T&AT H 50% & gig el & AR Scurega fasmer A
ATGell AT DT HEAT H 20% &I HAT Bl &, dl DUAT H HAATRIAT Dl ol HEAT AT
hIer?

PERCENTAGE OF TOTAL EMPLOYEES

Department Male : Female
Production 3:1 1 2050
Accounts 2:3 2. 1925
HR 1:2
Procurement 3:2 3 ) 2075
Planning 1:1 4. 2025
Safety 2:1 5 2000



The number of females in safety department forms what percent of the total

employees working in the company? :
&t TaHmT A A3 & &A1 Sl H HIH P dTel Dol HHATRAT BT ThddT YTAAT &7

PERCENTAGE OF TOTAL EMPLOYEES

Department Male : Female
Production 3:1 1 12%
Accounts 2:3 2. 10%
HR 1:2
Procurement 3:2 3.5%
Planning 1:1 4. 6%
Safety 2:1 5 8%




Find the difference of total number of males and females working in all the

departments together?

AT faHTO H PIH P el gouT 3R ATG3iT Pl Fol &A1 Bl AT AT HIfSIA?

PERCENTAGE OF TOTAL EMPLOYEES

Department Male : Female
Production 3:1 1 3 10
Accounts 2:3 2. 330
HR 1:2
Procurement 3:2 3.280
Planning 1:1 4. 350
Safety 2:1 5 300



What is ratio of number of male employees in Production department and the
number of female employees working in Procurement department?

3culee TIHMT & oV HATRAT &1 IR TG TIHET F A e drell Afgell HAATRAT

hT HET T eIUTd &T §7?

PERCENTAGE OF TOTAL EMPLOYEES

Department

Male : Female

Production

o

Accounts

HR

Procurement
Planning

Safety

b = W | R
P = NN W

1.8:5
2.23:7
3.25:8
4.24 :5

5.5:2



(925.12 + 1049.82 +13.89 ) = 2% = ( 279.96+35) x(4.76)’

Lk whe
WUl N e



195.95 x (1/13.99) + 110.12 ~ 54.95 - 114.88 ~ 22.74 =?

1.1
2.22
3.11
4.34
5.5




(8.85)"* x (15.86)"* x (511.71)'" - (4.19)* = ? + (49.16)"”

1.73
2.87
3.53
4.77
5.93



11.11% of 99.11 + 22.22% of 98.97 - 9.99% o1 100 = ?

1.24
2.22
3.23
4.33
5.20




A mixture of oils is prepared by mixing two mixtures A and B in the ratio 2 ¢ 1.
Mixture A is made by mixing olive oil and jasmine oil in ratio 3 ¢ 1, while mixture B

is made by mixing coconut oil and almond oil in ratio 2 ¢ 3. How much jasmine oil
and coconut oil is required to prepare 750 ml of the final mixture of oils

respectively?

dell 1 Teh fAsor o fAson AR B 2 : 1 & HJUId A TR IR foham Srar &1 fAsmor
ASIET & Aol R Tl & Jd B 3 : 1 P IUId H [HA FArIT ATAT &, STdich AT B
ATRIST dcf AR I1GTH & del &l 2 : 3 & HJuid H AP aaqr:r J1am gl dell & 3AfdA
ﬁrﬂwaagsomaﬁﬁwa?{ﬁ%ﬁtﬂ?r:ﬂ?ﬁ?ﬁﬂﬂéﬁ&ﬁ?«—uﬁqq BT ool Tohde
JTdRIP & 7?

100 ml, 100 ml
100 ml, 125 ml
125 ml, 100 ml
125 ml, 125 ml
NOT

e W e



The selling price of the Toy car is 850rs. The ratio of the marked price to the cost
price of the Toy car is 10 : 9 respectively and the ratio of the marked price to the

cost price of toy bus is 8: 9 respectively. If the ratio of the cost price of the toy car to

the toy bus is 2: 1 respectively and the discount offered for the toy car is 15%, then

what is the marked price of the toy bus?

f&ellar e &7 & HeT 850 ¥0A &1 @@l dR & 3Hfhd Hed 3R FI Hed &1 HJUId
ShAM: 10: 9 & 3 Wl 98 & FT AT & AU 3Hfhd AT H1 HJUrd HAA: 8: 9 ¢l I
fEeiler SR 3R [W&elar a0 & T HeT BT IFurd $hAM: 2: 1 & AR Wellar R & fow &
STl dTell B€ 15% &, of T&alar a8 & 3ifhd Hed T &7

1.250
2.550
3.400
4.275
5.300



A boatman rows some distance upstream and some distance downstream. If the time @=Y
taken by the man to row upstream is twice the time taken by him to row
downstream. Find the ratio of distance travelled by the man upstream to that of
downstream, if the speed of boat in still water is 7 km / hr and the speed of stream is

2 km / hr?

Teh Al URT & Fidpd W IR 9RT & Ufdgel $& gl W Iodl ¢l Ife Al gra
dﬁﬁﬁaﬂ;?fraigmwmbacﬁv gm@rma?aﬂcw Teled H o1 el

THAY &1 AT &1 g R Ul & a1 & a1fq 7 fhar/eer & 3R 9rr & a1fa 2 fpaf/ger

¢, Ol =it gRT URT & Ufdgel MM &HT g T URT & Yidgpel D g § e]urd AT hifora?

fq\
(‘/\?J/> 1.12:13

2.10:9
3.4:5
4.9:7
5.15: 8




X is 20% less efficient than Y. X, when working alone, takes 30 days to finish the P\

job. He works alone for ‘n’ days. After that, Y joins him and the two work together
to finish the job in exactly 20 days (counting from the day X began working alone).
What is the value of ‘n’?

X, YT JAT H 20% HA FA &l X, 3hel P R FAY, B B QU A H 30 e @
%IEI%' nﬁ?ﬁﬂiﬁl‘@ﬁﬁ%qﬂa HIAT &1 38D 91, Y3Hb F1Y & ST & 3R alar 8l 20
fecdl & A QU HA & T Th 1Y HH Ad & (97 & XA 31hel oA i A& fopar
AT)| 'n' BT AT FIT &7

1.11
2.12
3.13
4.14
5.15



The marked and cost price of the table are (x + 3000)rs and (x)rs respectively, and
the shopkeeper allows a discount of y rs on the marked price of the table while he
gets a profit of 19%. If the shopkeeper allows the discount of (y — 735)rs while he

gets a profit of 28.8%, then find the value of y?

diferet @1 3ifdhd 3R BT FHeT HAA: (x +3000)rs 3R (x)rs% 3R GG AT & 3ifehd Hod
R y ¥ hT FC ST & SAdih 38 19% T otH TFHerar g1 I @ﬁ%‘;qu (y—735) 30 &I T
é\FIT% STdTh 35U 28.8% BT oA Harar &, A y &1 A A1d

.Rs. 1525
.Rs. 1550
.Rs. 1575
.Rs. 1675
.Rs. 1725

o B WDN =




S purchased a box full of balls. Box contains 16 red balls and 10 black balls in it. If 3
balls are selected at random, what is the probability that 1 black ball and 2 red balls

are selected?

S gl @ #U T dferd WIS dierd A 16 el 316 3R 10 Frelt 3 §1 I Iefosd ®U 4
3 3Gl I T fhar ST &, a1 Frell g IR 2 & el Bl g ATl Y UTiehcr Far &7

1.36/67
2.35/65
3.38/60
4.35/59
5.6/13



A and C can do 25% of the work in 1.5 days, and A and B can do 33.33% of the work in 4 days.
The ratio of efficiencies of B to C is 2:7, and B alone can do the whole work in 30 days. C and B

start the work and after 'Y' days B left the work and A joins C, after 3 days they both left the

work, now If B can complete the remaining work in 3Y days then find the value of Y ?

A3 c15faAr & 25% P &Y hd &, IR AR BaeAT & 33.33% I A Tdhd ¢l B
3R CHT 7T P 3qUIT 2: 7 &, IR B 3dhel QX HIHA &l 30 &l A ™ Thar &1 3R B
B P YE A & 'Y AT & 91G BHIHA SIS 4l © IR A, CH 35 ST &, 3 &al & arg
d Sl PIA BT &d &, 379 I B AV w1 &l 3y el F @T AT Fhdl § O Y B AT AT
I |




There was a discount of 10% on a phone in an online shopping app. R got additional
5% discount by paying through Axis card. Now he spent 10% of the purchased

price for buying some extra stuffs for the phone. After 3 months of using it, he

wanted to sell it at the loss of 25%. Find the approx selling price of the phone if the
original price of the phone was 10,000rs ?

Ueh oISl MU VT H Teh Bid GX 10% &I e | IR B UFFH HIs & ACIA 4

%:I:rdlrl hich HARTD 5% DT T Al 3T 384 B & o0 & HARD AT Gled &
WIS IS PIHAT FT 10% @I [RAT| SHPT SUANT Bl & 3 ARl dIG, dg 3T 25%

eIl WX 94T aredr A1l IfE B HT areaided HrAad 10,000 3T A, d B bl T

fasha e dra Hifaa? \ /\/
[ 72y

1.7054
2.7060
3.7050
4.7058
5.7052



